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9n - [ 9 - digits] = |n -k + 1|c

Not prime for each n>=3
Consider  พิจารณา
I select N-bit words from this sequence accordingขึ้นอยู่กับ
> >to the rule:

which we rewrite asซึ่งเราเขียนใหม่ได้เป็น
Now the equation w1(a)=w2(a) unscramblesแปลได้เป็น to be

Let  S  be the operator  S(x)=x^2  and  T  the operator  T(x)=x+1.

For every number
For instance, 9 is not prime, but 2*9+1 =>19 is
UNIQUE NUMBERS(1)
จำนวน(ที่มีลักษณะ)เฉพาะ
สวัสดีครับ ผู้สนใจในคณิตศาสตร์ทุกท่าน สำหรับบทความนี้เป็นเรื่องเกี่ยวกับความสัมพันธ์จำนวนเช่นเดิมเหมือนที่ผมเคยเขียนไปในMy Math เมื่อปีที่แล้ว(..............)ในวันนี้เรามาพูดถึง unique numbers หรือจะแปลให้เข้าใจได้ง่ายว่า จำนวนที่มีลักษณะเฉพาะ  ซึ่งเมื่อเรามองขอบเขตของ unique numbers นั้นกว้างมากๆครับ(คิดว่ากว้างไปจนกว่าจะสุดความคิดมนุษย์จะคิดได้นั่นล่ะ)เพราะ unique numbers ใช้ในกับการเขียน Java Script,ใช้ในการ generate alphanumeric codes,ใช้ในการ Random Numbers ที่ต้องการความสัมพันธ์ และที่สำคัญเมื่อเลขที่มีลักษณะเฉพาะเหล่านั้นมีความสัมพันธ์มันย่อมนำไปสู่กระบวนการทาง algorithmได้ แต่ที่ผมต้องการจะ Focus ลงไปนั้น ขอโฟกัสในมุมที่ผู้อ่านสามารถมองเห็น Relation of Numbers ได้อย่างชัดเจนจะดีกว่า เพราะจุดมุ่งหมายของผมนั้นมุ่งเน้นให้ผู้อ่านที่อยู่ในวัยเรียน เกิดความคิดจุดประกายทางคณิตศาสตร์ขึ้นมาและเพื่อให้รู้สึกสนุกกับการคิดทางคณิตศาสตร์มากขึ้น เข้าเรื่องกันเลย
นิยาม
[1]ถ้าให้ An เป็นจำนวนใดๆ ที่ประกอบกันด้วย เลขโดดที่เรียงต่อกันเป็นจำนวนนับ n ตัว และ เลขโดดที่เรียงต่อกัน n ตัว ของจำนวน An นี้มีการกลับข้างกัน  แล้ว ผลต่างระหว่าง เลขโดดที่มีการกลับข้างกัน ของจำนวน An และเลขโดดที่เรียงต่อกัน n ตัว นี้จะทำให้เกิดค่าคงที่ ซึ่งจะเรียกจำนวนที่มีลักษณะดังกล่าวว่า  “จำนวนที่มีลักษณะเฉพาะ” โดยเขียนแทนด้วย Un
เพื่อให้เข้ามากขึ้น ผมจะยกตัวอย่าง
ตัวอย่างที่ 1
พิจารณาเลข  สามจำนวน 234,345 , 456,678 
เลขจำนวน  234(3 digit)

พิจารณา 234 :การกลับข้างกัน ของจำนวน 234 จะได้ 432
จากนิยาม หากเรา นำ 432-324 จะได้ 198 
เลขจำนวน  345(3 digit)

พิจารณา 345 :การกลับข้างกัน ของจำนวน 345 จะได้ 543
จากนิยาม หากเรา นำ 543-345 จะได้ 198 
เลขจำนวน  456(3 digit)

พิจารณา 456 :การกลับข้างกัน ของจำนวน 456 จะได้ 654

จากนิยาม หากเรา นำ 654-456 จะได้ 198 
เลขจำนวน  678(3 digit)

พิจารณา 678 :การกลับข้างกัน ของจำนวน 678 จะได้ 876

จากนิยาม หากเรา นำ 876-678 จะได้ 198 
เพราะฉะนั้น เราจะกล่าวได้ว่า U = 198 สำหรับเลขโดด 3 หลัก ที่มีการเรียงลำดับของจำนวนตามนิยาม
A Digital Diversion a la Kaprekar

     A little known piece of number trivia concerns a mathematician from India, named D. R. Kaprekar. He discovered that if you use the digits 1, 4, 6, & 7 to make the largest and smallest 4-place numbers, that the difference between them is a number that is composed of those same four digits. This is easily shown as follows: 

7641 - 1467 = 6174
     The number, 6174, is therefore called Kaprekar's Constant. Much has been written about this idea in various websites*, math books & periodicals. 

     However, your task here is (1) to list all 24 permutations of those digits as 4-place numbers; then (2) use some other number(s) to multiply them by in order to obtain the remaining five digits (2, 3, 5, 8, & 9). [Hint: the factors you need are less than 10.] 

     Extra: three of the permutations will yield good results when multiplied by 12, 16, & 53. 

     Note: use of a spreadsheet is recommended for this problem. 

     [*For my website, go to Kaprekar. There are other links there as well.] 

Digital root

(also Repeated digital sum)
เป็นเลขที่ได้มาจากการบวกเลขโดดด้วยกัน  ซึ่งจะบวกกันไปจนกระทั่งเหลือเพียง เลขโดดเพียงตัวเดียวเท่านั้น
For example, the digital root of 65,536 is 7, because 6 + 5 + 5 + 3 + 6 = 25 and 2 + 5 = 7
Digital root of a square is 1, 4, 7, or 9
Formal definition

Let f(n) denote the sum of the digits of n. Eventually the sequence 
[edit]

Example

Let us find the digital sum of 1853.
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[image: image2.png]f(17)=38




Thus, fσ(1853) = 8.

[edit]

Proof that a constant value exists

But how do we even know that the sequence [image: image3.png]


eventually becomes constant? Here's a proof:
Let [image: image4.png]r=d;+10dy +---+10""'d,



, with [image: image5.png]


(For all i, di is an integer greater than or equal to 0 and less than 10). Then, [image: image6.png]


. This means that f(x) < x, unless [image: image7.png]


, in which case x is a one-digit number. Thus, repeatedly using the f(x) function would cause x to decrease, until it becomes a one-digit number, at which point it will stay constant, as f(d1) = d1.

In mathematics, the digit sum of a given integer is the sum of all its digits, e.g. the digit sum of 12042 is calculated as 1+2+0+4+2 = 9.

The digit sum of a base 10 integer, x, repeated until a single digit is produced, can be calculated as digit_sum(x) = x mod 9. For example, digit_sum(632) would reduce 6+3+2 = 11 to 1+1 = 2. The function returns 0 when the digit sum is 9 (or 0 as in the case of digit_sum(0)). This is also called "casting out nines".

Using alternating addition and subtraction, rather than addition alone, produces residues modulo eleven. The least significant digit should be added, the 10s digit subtracted, and so on, making it more convenient to work right-to-left. Thus 12042 produces 2−4+0−2+1 = −3, or 8 modulo 11

